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Name: e st A L
Title: MATO024C Factoring 2 (Solve, Simplify Rational Expressions)
Started: March 19, 2008 10:39 AM

Submitted: March 19, 2008 10:53 AM
Time spent:  00:14:23
Total score: 8/10 = 80% | Adjust total score by: I0.0

Update Grade | | Reset Attempt | | Cancel |

'1. Solve tr'inon"lial easy
Solve

¥ -13x+12=0

Student Response Value Correct Answer Feedback
Ax=-12,x=1

& l: 1 2,-1 - 1 oon B

o A o 12, ;,; - _1

P-x=-3, x=-4
Score: 2/2
Override score: I o 2F
Comments for -
Student “3

2. Solve trinomial hard
Solve

6x* —5x+1=0

Student Response  Value Correct Answer Feedback

A=—=,X=—-=

G s
2
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Score: 0/2

Override score: I 7 [ 2%

Comments for | -
Student ‘“]

3. Simplify pull out
Simplify
2
Sx° —15x

x2-9

Student Value Correct Answer Feaedback
Response

A. x—3
x+3
- . e
_x-3
— 5_557(_5‘:+3) B
(x - 3)*

o 100% 71
2.3

x+3
Score. 2/2

Override score: I S oax

Comments for
Student

4w .glmpllfy trinomial eés&

Simplify
22 -8 +15
P -x-6
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Student Response Value Correct Answer Feedback
i@ A, ¥ —5 100% M

X+ 2

B. y_5
x—2

C x5

> (x+5)(x-3)
(x+3)(x+2)

Score; 2/2

Override score: I / 2%

Comments for | ]
Student

5 SImphfytrmommlhaw;-ci U
Simplify
6x% —13x +6

3xi +x-2

Student Value Correct Answer Feedback
Response

B A 7x—3 100% 5

w 11
«% 1 L

B. 2x—3
-x+1
C 6x-1
3x+1
s gx : 5
x—-1
Score: 2/2

Override score: I o[ 2F

Comments for
Student
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Total score; 8/10 = 80% Adjust total score by: I0,0 *

Comments for T
Student "“}
Audit tog o}
comments:

Audit'comments Will only be 's‘a‘ved wheh a grade change has been made.

*Scores will be rounded to 4 decimal places.

‘Update Grade | | Reset Attempt | | Cancel
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View Attempt 1 of 2

Name: e by e
Title: MATO024C Factoring 2 (Salve, Simplify Rational Expressions)
Started: March 18, 2008 7:38 PM

Submitted:  March 18, 2008 7:53 PM
Time spent: 00:15:24
Total score: 10/10 = 100% | Adjust total score by: [0.0

Update Grade I [ Reset Attempt'[ ] Cancel [

. SOTve ‘Ew.:i;bmiaiméasy — . o ) e e e
Solve

22 -13x+12=0

Student Response Value Correct Answer Feedback
Alx=-3 x=-4

BB oy=12 x=1 100% &

Cx=-12,x=-1
Do x=-12, x=
Score: 2/2

Override score: I /2%

Comiments for
Student

2. Solve tfiﬁomial hard
Solve

6x2 —5x+1=0

Student Response  Value Correct Answer Feedback
A. 1 1
A=——, X=—=
6 3
& B 1 1 100% [&
x - ] -x = —
2 3
C.
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Score: 272

Override score: I ] 2%

Comments for
Student

3. Simplify pullout
Simplify
2
5x° —15x

2 .
xX°-9

Student Value Correct Answer Feedback
Response

A x-3
*+3 |
5 Su(e s ) e |
(x - 3)*
e s im B

Score: 272

Override score: ) 2%

Comments for
Student

'4. Simplify trinomial easy
Simplify
22 —8x+15

¥ -x-6

I
|
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Student Response Value Correct Answer Feedback
A x—35

x-6
(x4 5)(x~3)
(x+3)(x+2)

m

C x-5
x—2
x+2

Score: 2/2

Override score: | [ 2%

Comments for
Student

5. SImplify trinomial hard
Simplify
6x* =13x+6

3x°+x-2

Student Value Correct Answer Feedback
Response

B A 2y_3 100% v

y+1

B 2x—3
x—-1

C 6x—1

3x+1
-x+1
Score: 272

Override score: | ) 2x

Comments for
Student
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Total score:  10/10 = 100% Adjust total score by: I0.0 *

Comments for i
Student J
Audit log |
comments: Ny
A

Audit-com-ménts will only be saved 'wh'eh é“grade change has been made.

*Scores will be rounded to 4 decimal places.

Update Grade \ !.Reiset Attempt ] I_Cancel
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